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Question 1 (3 marks)
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Question 2 (3 marks)

 for a particular value of the constant C.

Since we are given that g(0) = 0, we can find the value of C.
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Question 3 (4 marks)

a.

b.

correct shape A1
correct intercepts and endpoints A1
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Question 4 (3 marks)

quadratic form M1

Let 
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Therefore 

 gives  and A1

Question 5 (5 marks)

a. Method 1:

Complete the square to find the turning point:

M1
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ii.

correct shape A1
correct intercepts and turning points A1

Question 6 (4 marks)

a. Let  and then 

 and M1

The chain rule states that 
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b. By the fundamental theorem of calculus,  where C is a constant.

M1
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Question 7 (4 marks)
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d.

 when 

 and 

Since 

When  

Question 8 (3 marks)

Let 

From the transformation,  gives 

 gives 

Question 9 (5 marks)

a.

Since one solution only A1
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b. M1

A1

Question 10 (6 marks)

a. Since  is a probability density function, 
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b. Since k = 1:

The mode is the value of x for which  is a maximum. This can be found by sketching the graph.
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c. The mean is given by x f x( ) x.d
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